
ldltM 2072÷07÷02

o; sfofnosf] cf=j=2072÷073 sf] 2072 c;f]h dlxgfsf] dfl;s oyfy{ cfo / Joo ljj/)f ;j}sf] hfgsf/Lsf] nflu ;fj{hlgs ul/Psf] Joxf]/f cg"/f]w % .

o; dlxgfsf]
;+s]t g+= zLif{s cfDbfgL ;+s]t g+= zLif{s

s cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgLs cfGtl/s >f]t cfDbfgL u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{u2=1=2 rfn" vr{
1=1=1 dfnkf]t tyf e'lds/ 2,000.00       -          -           1=1=1 tnj sd{rf/L 7,650,000.00     1,478,777.00    1,969,916.00    
1=1=3 jxfns/ 100,000.00     4,020.00      10,212.00       1=1=2 kbflwsf/L kl/>lds 10,000.00       -          -          
1=1=5 Jojzfos/ 1,200,000.00    78,345.00     233,430.00      1=1=3 sd{rf/L sNof)f sf]if 550,000.00      -          -          
1=1=6=1 ;jf/L tyf jflif{s/ 10,000.00      -          1=1=4 jLdf lk|ldod vr{ 100,000.00      6,000.00       9,000.00       
1=1=6=2 k^s] ;jf/Ls/ 10,000.00      -          1=2=1 sd{rf/L eQf 500,000.00      74,000.00      111,000.00     
1=1=7 ;Dklts/ 1,800,000.00    121,111.00     434,299.00      1=2=3 j}&s eQf 200,000.00      13,000.00      13,000.00      
1=1=8 dgf]/Ghgs/ 4,000.00       -          -           1=3 ;?jf tyf e|d)f vr{ tyf b}lgs eQf 20,000.00       19,500.00      19,500.00      
1=1=9 lj!fkgs/ 50,000.00      -          -           1=4 kf]zfs 300,000.00      -          -          
1=2=6 crn;Dklt dNof+sg ;]jf z"Ns 100,000.00     3,270.00      16,736.00       1=5 vfBfGg tyf cfxf/ 40,000.00      18,900.00      18,900.00      
1=2=8 cGo ;]jf z"Ns 5,000.00       -          -           1=6 cf}iflw pkrf/ 300,000.00      -          -          
1=3=1 btf{ tyf gljs/)f b:t/ 1,000.00       -          -           2=1 kfgL tyf ljh"nL dxz'n 100,000.00      26,796.93       26,796.93       
1=3=2 gS;fkf; b:t"/ 2,000,000.00    104,969.00    113,485.00      2=2 ;Grf/ dxz'n 150,000.00      18,511.97      18,511.97      
1=3=3 l;kmfl/; b:t"/ 800,000.00     106,287.00     407,964.00      2=3 sfof{no ;Grfng ;DaGwL vr{ 750,000.00      -          40,000.00      
1=3=4 gftf k|dfl)ft b:t"/ 75,000.00      8,200.00      29,200.00       2=5 dd{t ;+Def/ 200,000.00      -          -          
1=3=5 cGo b:t"/ 25,000.00      -          -           2=6 O{Gwg 300,000.00      -          -          
1=4=3 cGo ljqmL 150,000.00     4,000.00      4,000.00       2=6=3 cGo O{Gwg 10,000.00       1,525.00       1,525.00       
1=5=1 ;fj{hlgs lghL ;fem]bf/L 1,000,000.00    -          151,000.00      2=8=1 ;b:otf z"Ns 50,000.00       -          -          
1=5=2 cGo ;|f]t kl/rfng 25,000.00      400.00       400.00        2=8=2 cfly{s ;xfotf 10,000.00       -          -          
1=7=1 b)* hl/jfgf 5,000.00       -          -           2=8=3 k"/:sf/ 15,000.00       -          -          
1=7=2 ef*f tyf jxfnjf^ cfo 560,000.00     30,000.00     90,000.00      2=8=4 kl/ifb ;Grfng vr{ 125,000.00      -          -          
1=7=3 w/f}^L hkm^ 10,000.00      -          -           2=8=5 ljljw vr{ 250,000.00      41,040.00      41,040.00      
1=7=5 k]ZsL lkmtf{ 10,000.00      -          -           3=4 ;fdflhs ;"/Iff cg"bfg 9,330,000.00     4,493,200.00    9,512,200.00    
1=7=6 cGo ljljw cfo 100,000.00     -          -           4=3 k":ts tyf ;fdu|L 10,000.00       -          -          

hDdf M 8,042,000.00    460,602.00    1,490,726.00     4=4 sfo{qmd vr{ 3,450,000.00     640,950.00     640,950.00     
v_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgLv_ jfXo >f]t cfDbfgL 4=5=2 sfo{qmd e|d)f vr{ sd{rf/L 250,000.00      4,200.00       13,620.00      
g]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgLg]kfn ;/sf/jf^ k|fKt cfDbfgL 4=7 gu/sf] ;/;kmfO{ tyf kmf]xf]/d}nf Joj:yfkg 1,300,000.00     713,239.94      892,565.88     

1=8=1=1 g]kfn ;/sf/ ;zt{ cg"bfg 12,696,000.00    2,357,666.00    2,357,666.00     4=8 bdsn tyf Pda"n]G; ;Grfng vr{ 1,600,000.00     265,980.00     356,505.00     
1=8=1=2 g]kfn ;/sf/ lgzt{ cg"bfg 16,309,000.00   -          -           4=9 ;*saQL ;DaGwL vr{ 100,000.00      99,900.00      133,835.00      
1=8=2=2 lhNnf ljsf; ;ldlt cg"bfg 2,000,000.00    -          -           9=1 e}k/L cfpg] vr{ 10,000.00       -          -          

/lhi^«]zg b:t"/ 4,000,000.00    -          -           12 lkmtf{ vr{ 10,000.00       -          -          
1=10 cGo cg"bfg 9,300,000.00    4,493,200.00   9,512,200.00     hDdf M 27,690,000.00    7,915,520.84    13,818,865.78   

cfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftfcfGtl/s C)f tyf ljljw cfDbfgL vftf u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{u2=2=2 k'+hLut vr{
1=13=2 nfut ;xeflutf 43,500,000.00   50,000.00     452,850.00      6=1 kmlg{r/ 20,000.00       -          -          
1=22 a}+s lx;fj - utjif{sf] df}Hbft _ 500,000.00     -          15,880,052.74    6=3 d]zLg/L cf}hf/ tyf cGo pks/)f 100,000.00      -          -          
1=23 gub -           -          -           6=5 ;fj{hlgs lgdf{)f 68,132,000.00    127,632.00      1,102,632.00     

hDdf M 88,305,000.00   6,900,866.00   28,202,768.74    6=7 cWoog tyf k'+hLut k|fljlws k/fdz{ ;]jf vr{ 100,000.00      -          -          
9=2 e}k/L cfpg] vr{ 305,000.00      -          -          

hDdf M 68,657,000.00    127,632.00      1,102,632.00     
96,347,000.00   7,361,468.00    29,693,494.74    96,347,000.00    8,043,152.84    14,921,497.78   

s]zaaxfb"/ >]i&
n]vf clws[t sfo{sf/L clws[t

cfGtl/s>f]t / jfXo>f]t u/L hDdf M rfn" / k'+hLut vr{ u/L hDdf M
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ljj/)f
jh]^ cg";f/ o; dlxgf ;Ddsf] 

cfDbfgL
ljj/)f

jh]^ cg";f/ o; dlxgfsf] vr{ o; dlxgf ;Ddsf] 
vr{


